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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—---- -
by the Keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------==----- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.
1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -—--- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article

that said his company was —---—--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——----—- ---=, 48 YOU can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.

1) cause 2) halt 3) identify 4) accompany



Y axio 217F (TDF 35) S e ukos

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Puppetry is the making and manipulation of puppets for use in some kind of theatrical
show. A puppet is a figure that is moved by human. A doll. for instance, is not a
puppet. and a girl playing with her doll as if it were a living baby is not giving a
puppet show: but. if before an audience of her mother and father she makes the doll
walk along the top of a table and act the part of a baby. she is then presenting a
primitive puppet show.

Puppet shows seem to have existed in almost all civilizations and in almost all
periods. In Europe, written records of them go back to the Sth century BCE (e.g.. the
Symposium of the Greek historian Xenophon). Written records in other civilizations
are less ancient, but in China, India, Java, and elsewhere in Asia there are ancient
traditions of puppet theatre, the origins of which cannot now be determined. Among
the American Indians, there are traditions of puppetlike figures used in ritual magic. In
Africa, records of puppets are meagre, but the mask is an important feature in almost
all African magical ceremonies, and the dividing line between the puppet and the
masked actor is not always easily drawn.
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16-

17-

18-

19-

20-

21-

22-

23-

A girl’s doll while playing with it is regarded as a puppet when the girl —---eeeeeeeee,
1) simply plays with it

2) shows it to her parents

3) asks her parents to take care of it as a baby

4) makes it walk on a table in front of her parents

What is the second paragraph mainly about?

1) History of puppet shows

2) Qualities of a puppet theatre

3) Reasons for popularity of puppet shows

4) Why puppet shows are favored by children

The word “them” in paragraph 2 refers to ------- ‘

1) records 2) periods 3) puppet shows 4) civilizations
The passage refers to the ancient traditions of puppet theatre in all of the following
places EXCEPT ——-—--mmemeemmv,

1) Africa 2) India 3) Java 4) the Middle East
The word “meagre” in paragraph 2 is closest in meaning to ——--eeeeeeemees,

1) fake 2) poor 3) clear 4) missing
PASSAGE 2

[t may well be asked why such an artificial and often complicated form of dramatic art
named puppetry should possess a universal appeal. The claim has. indeed. been made
that puppet theatre is the most ancient form of theatre, the origin of the drama itself.
Claims of this nature cannot be substantiated. nor can they be refuted: it is improbable
that all human dramatic forms were directly inspired by puppets. but it seems certain
that from a very early period in man’s development puppet theatre and human theatre
grew side by side, each perhaps influencing the other. Both find their origins in
sympathetic magic, in fertility rituals, in the human instinet to act out that which one
wishes to take place in reality. As it has developed. these magical origins of the puppet
theatre have been forgotten, to be replaced by a mere childlike sense of wonder or by
more sophisticated theories of art and drama, but the appeal of the puppet even for
modern audiences lies nearer a primitive sense of magic than most spectators realize.

Which question is the author trying to answer?

1) Where can the roots of puppetry be traced?

2) When was the first puppet show performed?

3) Why should puppetry have such a universal attraction?

4) Why do humans find puppetry more attractive than drama?

The word “refuted” in line 4 means -——----—w-eeeemv,
1) disproved 2) supported 3) assumed 4) investigated
The author is of the opinion that -——--—eeeeaeeeee,

1) puppet theatre is not as universal as human theatre

2) puppet theatre and human theatre grew side by side

3) human theatre is more appealing than puppet theatre

4) all human dramatic forms were directly inspired by puppets
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24-

25-

26-

27-

28-

29-

30-

Puppet theatre and human theatre both find their origins in all of the following
EXCEPT —--eemeeeeeeee g

1) fertility rituals 2) the human instinct

3) sympathetic magic 4) the desire for attention
The word *it” in line 9 refers to et

1) the puppet theatre 2) sense of wonder

3) instinct 4) reality

PASSAGE 3

Born Richard Frank Oznowicz on May 25, 1944, in Hereford. England, Frank moved
with his parents, Isidore and Frances Oznowicz, as well as his brother, to Oakland.
California. when he was six. At a young age he adopted the name Frank Oz, because
people struggled to pronounce Oznowicz.

Oz was. by his own admission, a shy child. As the son of amateur puppeteers, he
gravitated toward puppets as an easy way to express himself. By the time Oz was 18.
he had already spent several vears playing around and working with puppets. But he
had no anticipation they would be a part of his future. Instead, Oz had dreams of
becoming a journalist.

But. while Oz was still in high school. he had a chance meeting with 23-year-old
Jim Henson at a puppeteering conference. “He was this quiet, shy guy who did these
absolutely amazing puppets that were totally brand new and fresh. that I had never
been seen before,” Oz would later recall. Henson appreciated Oz's work as well. Two
years later, as Oz struggled through his first year of college, Henson asked the young
puppeteer to join his Muppets team.

What is the passage mainly about?

1) Where Frank Oz was born

2) Why Frank Oz was a shy man

3) How Frank Oz entered the world of puppeteers

4) Why Frank Oz’s family had to move to California

Which of the following statements is true about Frank Oz?

1) He worked as a journalist when he was in high school.

2) His parents were professional puppeteers in Hereford, England.

3) He changed his family name to Oz because he did not like Oznowicz.

4) He changed his family name to Oz because people found it hard to pronounce it.

The phrase “gravitated toward” in paragraph 2 means ——-----eeeeeeee,

1) was attracted to 2) was concerned with

3) was impressed by 4) was influenced by

The word “they” in paragraph 2 refers to ——--e-eeeeeeeee,

1) dreams 2) puppets 3) puppeteers 4) several years

When did Henson ask Frank Oz to join his Muppets team?

1) When Frank was 23 years old

2) When Frank was in the second year of college

3) Immediately after the puppeteering conference

4) Two years after they had met at a puppeteering conference
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